EARAROBEEIERT — 2 N— IBISH —F 2019518290 (k) 15E=H12H

M C3—10 C3 H5%—#% ECEE R
[A&4£] 17 :200,000™ ~ 23#%&:70,000"  33&:40,000 ~ 437 :30,000” .~ 5 7 :20,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . > MG 126. 20— . — AT (FH)
1 o | EXRILTY L > 4| Hilt 1(2_6)9 3-2-2-2 | 40.8 3 (4+718) f;aa%z
R:¥rinqo— B:YrRY4—vz eI
S o4 | LEFFE 1:27.2 1-1-1-1 [ 41.3| — 2 | 450 | BEAEH (FH)
2(8[10] ¥ X~ b 5.0 (11/2) (g | EAE
A:Dubawi B:ITFET H—L—- T vIN> - T7—LBRS
— N L5 : -4-4- - TEEET (5H)
slglg m—LuF % o4 i 1.(217>.4 4-4-4-5 | 40.7 4 12(5;7 g
L:TFZ9 784K BANMRT =2 i=tie]
. N KEH : ~5-5-. — AKRER) (FH)
NEBPPEET: H 5 xe 1(.12/72.)5 5-5-5-4 | 40.6 1 g) 1”3$F&E
R:TRTAYTy IR B:F4 4 17 I8
R TS FENllEGIN :27. —~7-7- . — E#EE (S5
sl1l1|77>7rEv v B4 gl 1(32/74)7 7-7-7-6 | 40.4 7 32) Py
R/ RS vy 7 B:T7d—FT43Tv7 18 F|iC
IS =4 o4 | ERBR 1:27.9 2-3-3-3 |41.6| — 6 461 | ERfR— (FH)
sl 6| 77v73A=vv7 56.0 1 42y | AT E—L—v s
IANRZATNG B:¥ad—F HE SRk
I, 3 4 5 | HKEE—HA 1:27.9 6-6-6-7 | 40.8| — 5 510 | EIUAE (&)
71718 | TA Y RT) -4 56.0 ) (+6) (mifﬂﬁ
R:YIRG4T952 B:1->TU—-% AW
S, 7> 4t 5 | EFRNE 1:29.3 9-9-8-8 |41.7| — 9 423 | BiEBXE (BH)
8 3| K7L KR 54.0 @ (+3) | () B
L:O—S X144 B:¥a3yTREH RE R
9 4| A vamaray H 6 iiﬁ%ﬁé 1:(332 8-8-9-9 425 — | 10 (5_128) i&;"a}% (=50
Z:Nd B:v—-I 7L FREHS
o6 | AEBEE 1:31.5 10-10-10-10| 43.1 | — 8 490 | BIAFERE (FH)
10/5/5|1T7Y—1 56.0 (6) (-38) | EEES
LA TATv— BiR74—bN—=2Z (/) HEa-KRL—Ya> AET7
® 1—F—@EBIERL
1T=7r= 10,6,2,9,7,8,1,4,3,5
20—F— 10,2,6,9,7,8,1,4,3,5
Jol=5r= 10,2,6,9,7,8,1,3,4,5
43—+ — 10,2,6,7,9,1,8,3,4,5
[ /N
B 2 570M 714K 2-10 290 B 2-8 560 JEE 2-9-10 2,890M
B B 2 220M 2-9 420M B & 2-10 1,230 JEE 2-10-9 10,950M
10 140 9-10 450M B E 2-10 3,510H
9 1909

ABICOVWTRDTEEERROODE. TR LIV,



